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a) What is the Excel function returns the payment on the principal for a given investment based on periodic constant payment and a constant interest rate?

PPMT(rate,per,nper,pv,fv,type)

Returns the payment on the principal for a given period for an investment based on periodic, constant payments and a constant interest rate.

b) What are the five main columns in an amortization schedule?

Year(Period)/Payment/ Principle Paid/Interest Paid/Loan Remaining

2.  

A piece of equipment costs $100,000 and has an annual maintenance cost of $25,000. Its market value is  $75,000 after one year. If the MARR is 18%, calculate the marginal cost for this first year. 

Marginal Cost for Y1= Loss in Market Value in Y1 + Foregone Interest in Y1 + Maintenance Cost in Y1



= ($100,000-$75,000) + $100,000(0.18) + $25,000



= $68,000

